				Ajax Paving I	ndustries of			Hubbard Con	struction	Duefound Made viole			
				Florida, LLC		Gator Gradin	g & Paving LLC	Company		Preferred Mat	terials	SUPERIOR ASF	PHALT, INC.
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
STREETS AND SIDEWALKS	Description	Quantity	Offic of Micasarc	Onit Cost	Total	Oint Cost	Total	Onit cost	Total	Onit cost	Total	Oint Cost	Total
1.0 ROADWAY RESURFACIN	IG												
	PREPARATION,												
	INSTALLATION AND												
	MAINTENANCE OF												
	PROJECT SIGNS												
1.01		1	LS	\$3,100.00	\$3,100.00	\$1,800.00	\$1,800.00	\$4,576.52	\$4,576.52	\$6,500.00	\$6,500.00	\$14,250.00	\$14,250.00
	ADVANCED ARROW												
1.02	WARNING PANEL	40	DAY	\$7.00	\$280.00	\$14.00	\$560.00	\$8.19	\$327.60	\$10.00	\$400.00	\$13.70	\$548.00
	SIGN, VARIABLE MESSAGE,												
	3 LINES,	-	DAY	\$15.00			\$1,120.00		\$702.00				\$1,020.00
1.04	REMOVED	0	SY	\$0.00	\$0.00	\$10.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	MILLING EXISTING												
	ASPHALT PAVEMENT, 2"												
	THICKNESS OR LESS, FULL												
1.05	WIDTH	120000	SY	\$3.30	\$396,000.00	\$3.50	\$420,000.00	\$2.62	\$314,400.00	\$6.00	\$720,000.00	\$5.60	\$672,000.00
	MILLING EXISTING												
	ASPHALT PAVEMENT												
	-MORE THAN 2"												
	THICKNESS TO 4"			4.0.00	4	4	400.000.00	40.04	440.000.00	40.00		4=	400 000 00
1.06	THICKNESS, FULL WIDTH	5000	SY	\$13.00	\$65,000.00	\$5.65	\$28,250.00	\$3.81	\$19,050.00	\$8.00	\$40,000.00	\$5.65	\$28,250.00
	SUPERPAVE ASPHALT												
1.0-	BASE, TYPE B 12.5,	200		4552.00	44.55 000 00	4250.00	475 000 00	4406.50	450.077.00	6470.00	d=4 000 00	4224.00	466 200 00
1.07	VARIABLE THICKNES	300	IN	\$553.00	\$165,900.00	\$250.00	\$75,000.00	\$196.59	\$58,977.00	\$170.00	\$51,000.00	\$221.00	\$66,300.00
	SUPERPAVE ASPHALT												
	CONCRETE, LEVELING												
	COURSE, TYPE SP 9.5 OR												
1.00	SP 12.5, FINE, TRAFFIC	470	TNI	\$223.01	6104 914 70	\$176.00	692 720 00	\$182.67	\$85,854.90	\$170.00	\$79,900.00	ć192.00	Ć96 010 00
1.08	SUPERPAVE ASPHALT	470	IIN	\$223.01	\$104,814.70	\$176.00	\$82,720.00	\$182.07	\$65,654.90	\$170.00	\$79,900.00	\$183.00	\$86,010.00
	CONCRETE, TYPE SP 9.5 ,												
	FINE, TRAFFIC LEVEL C,												
	VARIABLE THICKNESS,												
1.00	ARTERIALS/COLLECTORS	2300	TN	\$200.00	\$460,000.00	\$176.00	\$404,800.00	\$170.31	\$391,713.00	\$155.00	\$356,500.00	\$168.00	\$386,400.00
1.03	SUPERPAVE ASPHALT	2300	TIN .	\$200.00	\$400,000.00	\$170.00	Ş404,000.00	7170.31	\$331,713.00	\$155.00	\$330,300.00	\$100.00	\$300,400.00
	CONCRETE, TYPE SP 9.5 ,												
	FINE, TRAFFIC LEVEL C,												
	VARIABLE THICKNESS,												
1.1	LOCAL ROADS	4700	TN	\$192.00	\$902,400.00	\$180.00	\$846,000.00	\$175.84	\$826,448.00	\$155.00	\$728,500.00	\$185.00	\$869,500.00
	SUPERPAVE ASPHALT	1.00		7 == =100	7222, 120100	7-22100	, = 12, = 3100	72.2101	, , , , , , , , , , , , , , , , , , , ,	7223.00	, , , , , , , , , , , , , , , , , , , ,	Ţ_23.00	, 222,222,000
	CONCRETE, TYPE SP 12.5,												
	FINE, TRAFFIC LEVEL C,												
	VARIABLE THICKNESS,												
1.11	ARTERIALS/COLLECTORS	3200	TN	\$195.00	\$624,000.00	\$173.00	\$553,600.00	\$170.10	\$544,320.00	\$155.00	\$496,000.00	\$165.00	\$528,000.00

				Ajax Paving Ir	dustries of			Hubbard Cons	struction				
				Florida, LLC		Gator Gradin	g & Paving LLC	Company		Preferred Mate	erials	SUPERIOR ASP	HALT, INC.
	SUPERPAVE ASPHALT												
	CONCRETE, TYPE SP 12.5,												
	FINE, TRAFFIC LEVEL C,												
	VARIABLE THICKNESS,												
1.12	LOCAL ROADS	1	TN	\$400.00	\$400.00	\$180.00	\$180.00	\$174.01	\$174.01	\$218.95	\$218.95	\$217.00	\$217.00
	OPTIONAL BASE GROUP 01												
1.13	(see latest FDOT	100	SY	\$265.00	\$26,500.00	\$65.00	\$6,500.00	\$43.10	\$4,310.00	\$58.65	\$5,865.00	\$106.00	\$10,600.00
	OPTIONAL BASE GROUP 04												
1.14	(see latest FDOT	100	SY	\$265.00	\$26,500.00	\$65.00	\$6,500.00	\$43.10	\$4,310.00	\$58.65	\$5,865.00	\$110.00	\$11,000.00
	OPTIONAL BASE GROUP 09												
1.15	(see latest FDOT	100	SY	\$425.00	\$42,500.00	\$95.00	\$9,500.00	\$60.96	\$6,096.00	\$73.80	\$7,380.00	\$120.00	\$12,000.00
	ADJUST MANHOLE RING &												
	COVER TO FINISHED												
	GRADE, IN PAVEMENT,												
	RISER PROVIDED BY												
1.16	CONTRACTOR	50	EA	\$238.00	\$11,900.00	\$300.00	\$15,000.00	\$270.76	\$13,538.00	\$396.08	\$19,804.00	\$500.00	\$25,000.00
	ADJUST MANHOLE RING &												
	COVER TO FINISHED												
	GRADE, IN PAVEMENT,												
1.17	RISER PROVIDED BY CITY	50	EA	\$51.00	\$2,550.00	\$120.00	\$6,000.00	\$74.25	\$3,712.50	\$173.40	\$8,670.00	\$225.00	\$11,250.00
	SHOULDER WITH SOD,												
1.18	INCLUDING TOP SOIL	150	SY	\$48.00	\$7,200.00	\$35.00	\$5,250.00	\$11.98	\$1,797.00	\$25.00	\$3,750.00	\$14.25	\$2,137.50
	STABILIZED AGGREGATE												
1.19	SHOULDER	200	CY	\$346.00	\$69,200.00	\$85.00	\$17,000.00	\$79.65	\$15,930.00	\$160.00	\$32,000.00	\$160.00	\$32,000.00
	CONDUIT, SIGNALS, F & I,												
1.2	UNDERGROUND, 2"	100	LF	\$22.00	\$2,200.00	\$18.00	\$1,800.00	\$19.06	\$1,906.00	\$18.56	\$1,856.00	\$70.00	\$7,000.00
	CONDUIT, SIGNALS, F & I,												
	SAWCUT & PLACE UNDER												
1.21	EXISTING PAVEMENT, 2"	100	LF	\$98.00	\$9,800.00	\$28.00	\$2,800.00	\$29.78	\$2,978.00	\$29.00	\$2,900.00	\$70.00	\$7,000.00
	CONDUIT, F & I,												
1.22	DIRECTIONAL BORE < 6"	50	LF	\$69.00	\$3,450.00	\$40.00	\$2,000.00	\$42.89	\$2,144.50	\$41.76	\$2,088.00	\$145.00	\$7,250.00
	PULL & JUNCTION BOXES,												
1.23	F & I, PULL BOX	100	EA	\$2,200.00	\$220,000.00	\$250.00	\$25,000.00	\$1,161.50	\$116,150.00	\$575.00	\$57,500.00	\$2,300.00	\$230,000.00
	LOOP ASSEMBLY, TYPE A,			4						4		4	
	6' X 20', F&I		EA	\$2,800.00	\$44,800.00	· '			\$25,255.20		\$36,192.00		\$56,000.00
1.25	SAW CUT LEAD-INS	50	LF	\$12.00	\$600.00	\$20.00	\$1,000.00	\$8.34	\$417.00	\$9.00	\$450.00	\$50.00	\$2,500.00
	CORE DRILL 2" THROUGH												
: = =	GUTTER FOR LOOP	_		4.00.55	40.400	4500.50	42	4227.5	44	4222.53	44	A	40 ==0 65
1.26	WINDOW, F&I, 2" SWEEP	5	AS	\$420.00	\$2,100.00	\$500.00	\$2,500.00	\$297.82	\$1,489.10	\$300.00	\$1,500.00	\$750.00	\$3,750.00
: ==	LEAD-IN CABLE (BELDEN			40.55	4	4.0.	4====	4	4222	40.5	A	40.5	Ann
1.27	WIRE)	50	LF	\$8.50	\$425.00	\$10.00	\$500.00	\$4.47	\$223.50	\$9.00	\$450.00	\$6.50	\$325.00
: ==	PAVEMENT MARKING -	_		A4 =00 cs	440 =00 ==	40000	44.000	0.000	A	44.000.50	47.000	4505.5	44 ==== 65
1.28	CROSSWALKS	7	EA	\$1,500.00	\$10,500.00	\$600.00	\$4,200.00	\$689.75	\$4,828.25	\$1,000.00	\$7,000.00	\$685.00	\$4,795.00
	PAVEMENT MARKING -			0.455.00	44.550.00	d400.00	44 000 00	6470	44 70	4575.00	45.750.00	6470.00	44 700 00
1.29	STOP BARS	10	EA	\$455.00	\$4,550.00	\$180.00	\$1,800.00	\$172.44	\$1,724.40	\$575.00	\$5,750.00	\$170.00	\$1,700.00
	PAVEMENT MARKING -			44.67.00	44 670 00	d400.00	44 000 00	4244.55	62.446.66	6400.00	44.000.00	4240.55	42.400.00
1.3	SCHOOL CROSSING/RR	10	EA	\$167.00	\$1,670.00	\$100.00	\$1,000.00	\$344.88	\$3,448.80	\$400.00	\$4,000.00	\$340.00	\$3,400.00

				Ajax Paving In	dustries of			Hubbard Con	struction				
				Florida, LLC		Gator Gradin	g & Paving LLC	Company		Preferred Mate	erials	SUPERIOR ASPHALT, INC.	
	PAVEMENT MARKERS,												
	RETRO-REFLECTIVE,												
1.31	REMOVE AND REPLACE	50	EA	\$60.00	\$3,000.00	\$25.00	\$1,250.00	\$6.90	\$345.00	\$12.00	\$600.00	\$6.85	\$342.50
	PAVEMENT MARKERS,												
1.32	RETRO-REFLECTIVE, NEW	25	EA	\$30.00	\$750.00	\$12.00	\$300.00	\$6.90	\$172.50	\$12.00	\$300.00	\$6.85	\$171.25
	PAINTED PAVEMENT												
	MARKING, STD, WHITE,												
1.33	SOLID, 6"	10000	LF	\$1.25	\$12,500.00	\$.50	\$5,000.00	\$.57	\$5,700.00	\$3.50	\$35,000.00	\$.60	\$6,000.00
	PAINTED PAVEMENT												
	MARKING, STD, WHITE,												
1.34	SOLID, 8"	1	LF	\$8.00	\$8.00	\$1.00	\$1.00	\$1.15	\$1.15	\$3.50	\$3.50	\$1.15	\$1.15
	PAINTED PAVEMENT												
	MARKING, STD, WHITE,												
1.35	SOLID, 12"	1	LF	\$10.00	\$10.00	\$3.00	\$3.00	\$2.30	\$2.30	\$3.50	\$3.50	\$2.30	\$2.30
	PAINTED PAVEMENT												
	MARKING, STD, WHITE,												
1.36	SOLID, 18"	1	LF	\$12.00	\$12.00	\$5.00	\$5.00	\$2.30	\$2.30	\$3.50	\$3.50	\$2.30	\$2.30
	PAINTED PAVEMENT												
	MARKING, STD, WHITE, 10'-												
1.37	30', SKIP, 6"	1	LF	\$5.00	\$5.00	\$1.25	\$1.25	\$.28	\$.28	\$3.50	\$3.50	\$.30	\$.30
	PAINTED PAVEMENT												
	MARKING, STD, WHITE,												
	DOTTED/GUIDELINE/ 2'-4'												
1.38	GAP EXTENSION 6"	1	LF	\$5.00	\$5.00	\$1.25	\$1.25	\$.40	\$.40	\$3.50	\$3.50	\$.40	\$.40
	PAINTED PAVEMENT												
	MARKING, STD, WHITE,												
1	DOTTED/GUIDELINE/ 6'-10'												
1.39	GAP EXTENSION 6"	1	LF	\$5.00	\$5.00	\$1.25	\$1.25	\$.28	\$.28	\$3.50	\$3.50	\$.30	\$.30
	PAINTED PAVEMENT												
	MARKING, STD, WHITE,			4								4	4
1.4	MESSAGE	10	EA	\$150.00	\$1,500.00	\$65.00	\$650.00	\$68.98	\$689.80	\$50.00	\$500.00	\$70.00	\$700.00
	PAINTED PAVEMENT												
	MARKING, STD, WHITE,												
1.41	ARROWS	10	EA	\$150.00	\$1,500.00	\$65.00	\$650.00	\$45.98	\$459.80	\$50.00	\$500.00	\$45.00	\$450.00
	PAINTED PAVEMENT												
	MARKING, STD, WHITE,			4=0.00	4=0.00	40.00	40.00		***	4=0.00	4=0.00	4.5.00	445.00
1.42	ISLAND NOSE	1	SF	\$50.00	\$50.00	\$8.00	\$8.00	\$11.49	\$11.49	\$50.00	\$50.00	\$15.00	\$15.00
	PAINTED PAVEMENT												
	MARKING, STD, YELLOW,			44.05	4.0 =00 00	4 = 0	4= 000 00		4= === ==	40.50	4	4.50	45.000.00
1.43	SOLID, 6"	10000	LF	\$1.25	\$12,500.00	\$.50	\$5,000.00	\$.57	\$5,700.00	\$3.50	\$35,000.00	\$.60	\$6,000.00
	PAINTED PAVEMENT												
	MARKING, STD, YELLOW,			40.00	40.00	44.00	44.00		4=0	40.50	40.50	4	4
1.44	SOLID, 8"	1	LF	\$8.00	\$8.00	\$1.00	\$1.00	\$.58	\$.58	\$3.50	\$3.50	\$.75	\$.75
	PAINTED PAVEMENT												
	MARKING, STD, YELLOW,			4.0.5	4.0	4=	4	40.5	40	40.5	40 ==	40.55	40.55
1.45	SOLID, 18"	1	LF	\$10.00	\$10.00	\$5.00	\$5.00	\$2.30	\$2.30	\$3.50	\$3.50	\$2.50	\$2.50
	PAINTED PAVEMENT												
	MARKING, STD, YELLOW,			AF 65	62 500 53	44.55	ć=00.00		6445.55	42.52	64 750 00	4.33	6450.00
1.46	SKIP, 6"	500	LF	\$5.00	\$2,500.00	\$1.00	\$500.00	\$.29	\$145.00	\$3.50	\$1,750.00	\$.30	\$150.00

				Ajax Paving In	dustries of			Hubbard Cons	struction				
				Florida, LLC		Gator Grading	g & Paving LLC	Company		Preferred Mate	erials	SUPERIOR ASP	HALT, INC.
	PAINTED PAVEMENT												
	MARKING, STD, YELLOW,												
	DOTTED/GUIDELINE/2'-4'												
1.47	GAP EXTENSION 6"	1	LF	\$5.00	\$5.00	\$1.25	\$1.25	\$.28	\$.28	\$3.50	\$3.50	\$.50	\$.50
	PAINTED PAVEMENT												
	MARKING, STD, YELLOW,												
	DOTTED/GUIDELINE/ 6'-10'												
1.48	GAP EXTENSION 6"	1	LF	\$5.00	\$5.00	\$1.25	\$1.25	\$.28	\$.28	\$3.50	\$3.50	\$.50	\$.50
	PAINTED PAVEMENT												
	MARKING, STD, YELLOW,												
1.49	ISLAND NOSE	1	SF	\$100.00	\$100.00	\$8.00	\$8.00	\$11.49	\$11.49	\$3.50	\$3.50	\$15.00	\$15.00
	PAINTED PAVEMENT												
	MARKINGS, STD, BLUE,												
	SOLID FOR PARKING LOT-												
1.5	ACCESSIBLE MARKINGS, 6"	60	LF	\$10.00	\$600.00	\$4.00	\$240.00	\$2.30	\$138.00	\$3.50	\$210.00	\$2.30	\$138.00
	PAINTED PAVEMENT												
	MARKINGS, STD, BLUE												
	"HANDICAPPED SYMBOL",												
	PARKING LOT, (2.7 SF W/												
1.51	NO BACKGROUND)	1	EA	\$1,000.00	\$1,000.00	\$125.00	\$125.00	\$114.96	\$114.96	\$200.00	\$200.00	\$115.00	\$115.00
	THERMOPLASTIC,												
	PAVEMENT MARKINGS,												
1.52	REMOVE	100	SF	\$50.00	\$5,000.00	\$12.00	\$1,200.00	\$11.50	\$1,150.00	\$30.00	\$3,000.00	\$11.50	\$1,150.00
	FULL DEPTH												
1.53	RECLAMATION (FDR)	25000		\$13.00	\$325,000.00	\$17.00	\$425,000.00		\$445,500.00		\$378,750.00		\$421,250.00
	EMULSION (FDR)	75000		\$4.10	\$307,500.00	\$3.70	\$277,500.00	· ·	\$345,000.00		\$243,750.00		\$277,500.00
1.55	PORTLAND CEMENT (FDR)	500	TN	\$236.00	\$118,000.00	\$255.00	\$127,500.00	\$223.02	\$111,510.00	\$225.00	\$112,500.00	\$256.50	\$128,250.00
	COMPACT & GRADING												
1.56	(FDR)	25000	SY	\$5.60	\$140,000.00	\$6.60	\$165,000.00	\$8.62	\$215,500.00	\$5.75	\$143,750.00	\$6.55	\$163,750.00
	HAULING OF MILLING												
	MATERIAL TO CITY'S YARD												
1.57	(1650 N ARCTURAS AVE)	100	CY	\$5.00	\$500.00	\$20.00	\$2,000.00	\$15.38	\$1,538.00	\$125.00	\$12,500.00	\$45.00	\$4,500.00
	CONTRACTOR RETAINS												
	PROJECT MILLINGS												
1.58	(DEDUCT)	15000	TN	(\$3.00)	(\$45,000.00)	(\$.01)	(\$150.00)	(\$1.13)	(\$16,950.00)	(\$.01)	(\$150.00)	(\$5.75)	(\$86,250.00)
	EROSION AND SEDIMENT												
	CONTROL / INLET												
1.59	PROTECTION SYSTEMS	10	LS	\$2,000.00	\$20,000.00	\$400.00	\$4,000.00	\$574.80	\$5,748.00	\$5,000.00	\$50,000.00	\$5,700.00	\$57,000.00
	ADDITIONAL PAYMENT												
	FOR CLEANING AND												
	FILLING CRACKS 1/4 INCH												
	OR GREATER WHERE												
	31%-60% OF A ONE-												
	SQUARE-YARD AREA IS												
1.6	AFFECTED. MODERATE	1	SY	\$185.00	\$185.00	\$100.00	\$100.00	\$17.24	\$17.24	\$1,000.00	\$1,000.00	\$285.00	\$285.00

				Ajax Paving In	ndustries of			Hubbard Con	struction				
				Florida, LLC		Gator Gradin	g & Paving LLC	Company		Preferred Mat	terials	SUPERIOR ASI	PHALT, INC.
	ADDITIONAL PAYMENT												
	FOR CLEANING AND												
	FILLING CRACKS 1/4 INCH												
	OR GREATER WHERE												
	MORE THAN 61% OF A												
	ONE-SQUARE-YARD AREA												
1.61	IS AFFECTED. HEAVY	1	SY	\$240.00	\$240.00	\$100.00	\$100.00	\$17.24	\$17.24	\$1,500.00	\$1,500.00	\$570.00	\$570.00
	PAYMENT FOR REMOVING												
	THE EXISTING BASE AND												
	SUBGRADE, AND THE												
	CONTRACTOR IS												
1.62	RESPONSIBLE FOR	10	CY	\$460.00	\$4,600.00	\$150.00	\$1,500.00	\$55.98	\$559.80	\$100.00	\$1,000.00	\$405.00	\$4,050.00
	TOTAL				\$4,121,037.70		\$3,555,882.25		\$3,579,889.75		\$3,704,987.45		\$4,066,365.25
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	10% CONTINGENCY FEE												
	FROM SECTION 1												
1.63	ROADWAY RESURFACING	1	LS	\$412,104.00	\$412,104.00	\$355,588.23	\$355,588.23	\$357,988.98	\$357,988.98	\$370,498.74	\$370,498.74	\$406,636.52	\$406,636.52
	Total				\$4,533,141.70		\$3,911,470.48		\$3,937,878.73		\$4,075,486.19		\$4,473,001.77
2.0 STORMWATER													

				Ajax Paving Industries of				Hubbard Construction					
				Florida, LLC		Gator Gradin	g & Paving LLC	Company		Preferred Mat	terials	SUPERIOR ASPHALT, INC.	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total		Total	Unit Cost	Total	Unit Cost	Total
2.01	MODIFIED CURB, R&R	5000	LF	\$55.00	\$275,000.00	\$45.00	\$225,000.00	\$0.00	\$0.00	\$44.17	\$220,850.00	\$93.00	\$465,000.00
2.02	VALLEY CURB, R&R	2500		\$59.00	\$147,500.00	\$46.00	\$115,000.00	\$0.00	\$0.00	\$50.36	\$125,900.00	\$71.75	\$179,375.00
2.03	TYPE 1 CURB, R&R	5000	LF	\$63.00	\$315,000.00	\$45.00	\$225,000.00	\$0.00	\$0.00	\$39.95	\$199,750.00	\$51.30	\$256,500.00
2.04	CONCRETE SWALE CURB	300	LF	\$80.00	\$24,000.00	\$69.00	\$20,700.00	\$0.00	\$0.00	\$66.13	\$19,839.00	\$94.20	\$28,260.00
	8" CRUSHED CONCRETE												
2.05	(LBR 100)	500	SY	\$267.00	\$133,500.00	\$40.00	\$20,000.00	\$0.00	\$0.00	\$46.91	\$23,455.00	\$66.85	\$33,425.00
	12" STABILIZED SUBGRADE												
2.06	(LBR40)	1000	SY	\$255.00	\$255,000.00	\$25.00	\$25,000.00	\$0.00	\$0.00	\$37.07	\$37,070.00	\$52.85	\$52,850.00
	CONCRETE DRIVEWAY												
2.07	RESTORATION R&R	1000	SF	\$20.00	\$20,000.00	\$18.00	\$18,000.00	\$0.00	\$0.00	\$19.85	\$19,850.00	\$28.30	\$28,300.00
	TREE REMOVAL (12"DIA -												
2.08	3 24" DIA)	5	EA	\$2,100.00	\$10,500.00	\$900.00	\$4,500.00	\$0.00	\$0.00	\$948.74	\$4,743.70	\$1,350.00	\$6,750.00
	TREE REMOVAL (25"DIA -												
2.09	36" DIA)	5	EA	\$3,700.00	\$18,500.00	\$1,400.00	\$7,000.00	\$0.00	\$0.00	\$1,566.43	\$7,832.15	\$3,920.00	\$19,600.00
	TREE REMOVAL (GREATER												
2.1	THAN 36" DIA)	_	EA	\$5,300.00	\$26,500.00	\$2,300.00	\$11,500.00	\$0.00	\$0.00	\$3,201.69	\$16,008.45	\$4,560.00	\$22,800.00
2.13	TREE REMOVAL (PALM)	5	EA	\$2,100.00	\$10,500.00	\$1,400.00	\$7,000.00	\$0.00	\$0.00	\$723.36	\$3,616.80	\$6,730.00	\$33,650.00
					\$1,236,000.00		\$678,700.00		\$0.00		\$678,915.10		\$1,126,510.00
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	10% CONTINGENCY FEE												
	FROM SECTION 2												
2.12	STORMWATER	1	LS	\$123,600.00	\$123,600.00	\$67,870.00	\$67,870.00	\$0.00	\$0.00	\$67,891.51	\$67,891.51	\$112,651.00	\$112,651.00
	Total				\$1,359,600.00		\$746,570.00		\$0.00		\$746,806.61		\$1,239,161.00
3.0 ADA ACCESSIBILITY													
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	(INSTALLED ON EXISTING												
3.01	CONCRETE)	10	EA	\$400.00	\$4,000.00	\$430.00	\$4,300.00	\$0.00	\$0.00	\$413.13	\$4,131.30	\$470.00	\$4,700.00
	ADA RAMP WITH MAT,												
	FDOT 304, CR-E, CR-F, CR-L												
3.02	& City Index 109	10	EA	\$3,250.00	\$32,500.00	\$2,900.00	\$29,000.00	\$0.00	\$0.00	\$1,535.15	\$15,351.50	\$2,190.00	\$21,900.00
	ADA RAMP W/ MODIFIED												
3.03	CURB	17	EA	\$3,000.00	\$51,000.00			· · · · · ·	· · · · · · · · · · · · · · · · · · ·				\$28,220.00
	Total				\$87,500.00		\$82,600.00		\$0.00		\$39,310.58		\$54,820.00
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	10% CONTINGENCY FEE												
	FROM SECTION 3 ADA												
3.04	IMPROVEMENTS	1	LS	\$8,750.00	\$8,750.00		. ,		· · · · · · · · · · · · · · · · · · ·				\$5,482.00
	Total				\$8,750.00		\$8,260.00		\$0.00		\$3,931.05		\$5,482.00
					96,250.0000		90,860.0000		0.0000		43,241.6300	#VALUE!	60,302.0000
	Grand Total				5,988,991.7000		4,748,900.48		3,937,878.73		4,865,534.43		5,772,464.77